BUGRICET 27 — L BHE

itH #£8
1 IRyF) &7 FHEVD—EBTHT)—VEF—XAPEE, ETLHEOFUVRLH S,
=L 1.%&K, #HRERO. BEAEZLIEZH L THFICRES,
(CATHEE EMFEIAZELIEDAGED T, @FL 1) THBE)
2. WM IER) #2175, 3. BBHARRIZITS.
4. ChZE8RYEBL, XICHFOmMFZE NERE] SEL-ENHELLLS,
NER) ---BAFEOELELNT, AFOFOVThAI—DEESN., BIFh=FI. BAEFOEOENEINS,
FEBL - $BOXRBAMN 15 LEICHE->-BE. TOFMRERATELG LD, @ [FE]
2. B#- B8
FHOE L GBAERFEEE LS —LAL [RYF] ITROTEKEZRS, TOMBEERFEMIZRDOTOAGLNEER,
WL EHEERRE LT,
3. A (1EFOFENRZD, BFOFEN—DODHEE (EFasb, #Fc )
(2)ZFOFNZD, BFOFNZONFEA (£F asb, #Fc=d , b+d=25) a
(3)FTRT1 b
D=BEEIZoITTER]-,
4. FI§
(1)
QL {1 0 kel L )al
2] 3 2|l 5 bl c bl b+e¢
@ S TR U O 1 O al | _lal .. _latbref N R
2| 2 2| 4 2| 4 2| 6 blc b| b+ec b b+c b 2b+c
e _,_1,_”, s _,lu,_, e a e a
6| 4 5 2b+c | btc atb+c
® S L O O 3 O IO K al | _lal......] l2ate | b2ate |
2| 1 2|l 2 2| 2 2l 5 blc b| atec b atc b 3a+2c
LY O O | A S O T
41 2 4] 6 a+b+c | atc atb+tc | 2a+b+2c¢c
(2) (1) LEH
(3) 4. R
_ _ _ (1) EF0B
5'51*;% ﬁ‘if_ﬁ 5'51-1 ﬁfﬁ_;ﬁ 553“? o ||| (2) brocVardzEY 2avecs T F M
1 - 1l 2 - 2] 2 - 21 2 - 2| 2 b+c;5/\a+d<5/\2a+c;5'6‘&$ﬂ\ﬂ§
bzl |1 (8)EFE
4] 2
i |
2l 3 5. S&DBE
- ‘;ﬁ [35] OL—LEMAEBEOBBEERDTS,
— {34 8 [535] FM1ALAE-> TOEIMES. BOXKEFE
- - . ICERIZHITHENRTES,
by B -k FED
3] 2 8 --%Falr
(5EFBL)




How to win the game based on number theory
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3 .METHOD

(1)First attacker (F) has two hands and second attacker (S) has one hand.
(2)F has two hands and S has two hands. (F: a=b, §: ¢=d , b+d=5)
(3)All finger is 1.
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Tl 6. Future problem
nd [ want to add the role of “divide” .
- | 1] 1w W ---F win o o
3| 2 L -F lose “divide” ---If you have only one hand , you can divide the
(S win) number of your fingers in two hands.




